ADDOO0 000000000000000000 TI0
0ooooo (ooo)

0 1.

V={f:R—-R|f0000000000O00}
000.0000,00000000.

(1) fevooono,

df
D(f) = —
(f) ==

goooooogd,
D:V -V

gooob,pbooobooboobgoob.oboo,

(0) 0000 f,geV ODODODO,

D(f +g) = D(f)+ D(g)
ooo.

(0) 0000 feVDODOOOOO eeROOOO,

D(af) = aD(f)
0oo.

do0doodooooboobobooboogoooog.
2) fevoooo, 1
Kﬁ=Af@M
goooooon,

I:V-R
0dddo,/0ddd0oooooooon.

OOOOODO.



02.0cRO0O0O,R2O0000000,000 tanf 0000 [,000.000
0,0, 00000000,z00000000 ¢0D0DODODODOOO
000000000.00,ueR?0000,0000 w000 ,000000
0000000000000000 Ty(w eR?*0O000O0.0000,00000
goo.

(H)ueR?’0 Th(u)eR?2OODODODODOO0OO0000DD0OO0OO0OOO
Ty : R? —» R?
00000 oooooooon.

(2) 0000 Tp,:R*—-R20000000000. 0000,

oooag,

DO0000DO00 20 20000 7,0000.



